034

< -
ST | & | & & O ¥ Y
& & B W HiRE H IE BF= fal EvF- R ¢ " O e & HFAWE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kef) ]
SUS-ST-50UR,M12 X 35 M12 1.75 35 21
SUS-ST-50UR,M16 X 40 50 74 M16 2 53
40 23
SUS-ST-50UR,W3/4 X 40 w3/4 10
25 27 ————— 60(61.2)
SUS-ST-65UR,M12x 35 Mi2 1.75 35 21
SUS-ST-65UR,M16 X 40 65 89 M16 2 61
40 23
SUS-ST-65UR,W3/4 X 40 w3/ 10
SUS-ST-75UR,M12 X 35 M12 1.75 35 21
SUS-ST-75UR,M16 X 40 75 26 97 M16 2 28 66 70(71.4)
RN FAO 40 23
SUS-ST-75URW3/4X40 | # #oLss w3/4 10
H{EE
Rt i M o o ol
B —_ © o .
ﬂ-l] SYTPNARTUVT
== ¢ 75 100
Qe BT E (RBUAAHR) -ERER
‘/7TXL
z : N
ne
=
SFHT-100NRB,M16 X 40 ﬁ @@
SFHT-100SEL,M16X 40 EEREBLL =@
HEHKBNENEAA—ITT,
- -
ST | | & | & &l a| ¥ ¥ | Y
& & B & HmE B IE W= fal EvF- R *$i " O HEEFE HAWE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kef) ]
SFHT-75NRB,M16 X 40 75 102 29 67
27 M16 2 40 23 60(61.2)
SFHT-100NRB,M16 X 40 100 126 31 81
b 91 =
& BILBA)
SFHT-100SEL,M16 X 40 100 28 126 M16 2 40 23 31 81 50(51.0)
HRAIV:PP
# IFANY-(BA)
CERTE 21x23z/%






